A-A(1:10)
LHT = LPA + Cst

Sinon:
Si SGO (=LPAXHPA) < 3m2 alors Version 1Verrou
Si SGO (=LPAXHPA) > 3m2 alors Version 2 Verrous

|
NOTA:
Si HPA < 1250mm alors Version 0 Verrou

|
LPA = LHT - Cst |
1

B - B
Constantes (Cst) = 144 mm
Nota : Cuivres intégrés dans les g E
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Version 2 Verrous
(Voir CT15-CE-OTF Vision-49)

{ Version 1 Verrou

Version 0 Verrou
(Voir CT15-CE-OTF Vision-50)

R
SOUCHIER



AutoCAD SHX Text
C Copyright SOUCHIER-BOULLET SAS

AutoCAD SHX Text
OTF Vision - Principe OFVPLE  C600 1 Verrou 

AutoCAD SHX Text
CT15-CE-OTF Vision-48

AutoCAD SHX Text
09/12/2016

AutoCAD SHX Text
D

AutoCAD SHX Text
SANS


	Feuilles et vues
	Objet


